
Toutes les Opérations (C)Calculez chaque somme, différence, produit, ou quotient.11 × 9 = 6 × 8 = 12 ÷ 2 = 10 × 2 =19 - 8 = 10 + 4 = 17 - 7 = 16 ÷ 8 =17 - 12 = 40 ÷ 10 = 7 - 3 = 14 - 9 =8 ÷ 2 = 11 ÷ 1 = 8 × 8 = 11 × 2 =22 - 12 = 10 × 4 = 10 + 5 = 14 - 11 =48 ÷ 8 = 9 - 2 = 32 ÷ 8 = 11 × 4 =6 × 2 = 23 - 12 = 11 - 6 = 4 + 9 =4 - 1 = 4 × 4 = 80 ÷ 8 = 5 × 1 =1 × 5 = 18 - 12 = 8 - 7 = 84 ÷ 12 =42 ÷ 6 = 4 + 12 = 40 ÷ 8 = 42 ÷ 6 =12 + 11 = 10 × 1 = 15 - 10 = 1 + 10 =16 - 10 = 20 ÷ 10 = 12 - 2 = 7 × 11 =2 × 6 = 99 ÷ 11 = 20 - 11 = 3 ÷ 1 =2 × 11 = 3 + 5 = 77 ÷ 7 = 7 + 1 =88 ÷ 8 = 80 ÷ 8 = 1 × 12 = 1 + 3 =72 ÷ 8 = 14 ÷ 7 = 10 ÷ 5 = 1 × 5 =11 - 4 = 9 - 7 = 9 + 2 = 16 ÷ 4 =1 + 4 = 6 ÷ 3 = 8 - 7 = 20 ÷ 2 =5 × 3 = 3 × 11 = 9 + 7 = 11 + 5 =9 + 8 = 14 - 12 = 56 ÷ 7 = 9 × 6 =11 - 1 = 7 + 1 = 14 - 3 = 4 × 7 =8 + 9 = 8 + 10 = 9 - 1 = 4 ÷ 2 =12 × 7 = 1 + 1 = 13 - 6 = 4 + 6 =8 + 9 = 108 ÷ 9 = 3 × 2 = 6 - 5 =8 × 11 = 5 + 2 = 1 + 10 = 2 × 6 =Mathslibres.com



Toutes les Opérations (C) RéponsesCalculez chaque somme, différence, produit, ou quotient.11 × 9 = 99 6 × 8 = 48 12 ÷ 2 = 6 10 × 2 = 2019 - 8 = 11 10 + 4 = 14 17 - 7 = 10 16 ÷ 8 = 217 - 12 = 5 40 ÷ 10 = 4 7 - 3 = 4 14 - 9 = 58 ÷ 2 = 4 11 ÷ 1 = 11 8 × 8 = 64 11 × 2 = 2222 - 12 = 10 10 × 4 = 40 10 + 5 = 15 14 - 11 = 348 ÷ 8 = 6 9 - 2 = 7 32 ÷ 8 = 4 11 × 4 = 446 × 2 = 12 23 - 12 = 11 11 - 6 = 5 4 + 9 = 134 - 1 = 3 4 × 4 = 16 80 ÷ 8 = 10 5 × 1 = 51 × 5 = 5 18 - 12 = 6 8 - 7 = 1 84 ÷ 12 = 742 ÷ 6 = 7 4 + 12 = 16 40 ÷ 8 = 5 42 ÷ 6 = 712 + 11 = 23 10 × 1 = 10 15 - 10 = 5 1 + 10 = 1116 - 10 = 6 20 ÷ 10 = 2 12 - 2 = 10 7 × 11 = 772 × 6 = 12 99 ÷ 11 = 9 20 - 11 = 9 3 ÷ 1 = 32 × 11 = 22 3 + 5 = 8 77 ÷ 7 = 11 7 + 1 = 888 ÷ 8 = 11 80 ÷ 8 = 10 1 × 12 = 12 1 + 3 = 472 ÷ 8 = 9 14 ÷ 7 = 2 10 ÷ 5 = 2 1 × 5 = 511 - 4 = 7 9 - 7 = 2 9 + 2 = 11 16 ÷ 4 = 41 + 4 = 5 6 ÷ 3 = 2 8 - 7 = 1 20 ÷ 2 = 105 × 3 = 15 3 × 11 = 33 9 + 7 = 16 11 + 5 = 169 + 8 = 17 14 - 12 = 2 56 ÷ 7 = 8 9 × 6 = 5411 - 1 = 10 7 + 1 = 8 14 - 3 = 11 4 × 7 = 288 + 9 = 17 8 + 10 = 18 9 - 1 = 8 4 ÷ 2 = 212 × 7 = 84 1 + 1 = 2 13 - 6 = 7 4 + 6 = 108 + 9 = 17 108 ÷ 9 = 12 3 × 2 = 6 6 - 5 = 18 × 11 = 88 5 + 2 = 7 1 + 10 = 11 2 × 6 = 12Mathslibres.com


